Model Questions & their answers
(For the Dy. Surveyors, T&S Grade-C)

There will'be hundred objective type questions and total time allotted will be two hours. The question paper
will consists of two sections.

Section-1 will relate to general awareness/aptitude and will have 20 number of questions
Section-Il will relate to technical discipline and will have 80 numbers of questions.

All questions will carry the same mark (1 mark each).

In case of any dispute, English version of the question will be taken as correct.

Four model. questions relating to general awareness/aptitude and Six model questions relating to technical
discipline are given below:

(D) Telescope

Section-1

Which of the following states in India has second 1 yrd # fFufafea | 9 fog asm @1 QI e
largest geographical area? g1 T & 82
(A) Maharashtra (A) HERIY
(B) Rajasthan (B) IS
(C) Uttar Pradesh (€ SWUEY
(D) Madhya Pradesh (D) H&T UG
Who-among the following has served the longest 2 fFufafRad 3 e YRa F gy 5 $ Tu H
term as the Prime Minister of India? Y os THY dP Ua] BT 27
{(A) Indira Gandhi (A) i e
{B) Atal Bihari Bajpaee (B) mﬁmm
(C) Jawaharlal Nehru © mw
(D) Narendra Modi .

(D) Tz md!
If there are 5 routes from A to B and 11 routes 3 HﬁAﬁBWﬂF‘f%GﬁTB@{CWHW%Eﬁ
from B.to C, then the number of routes from A to AQ CdF feaarant gy :
Cis (A) 16
(A) 16 (B) 55
(B) 55 (C) 30
(C) 30 (D) 50
(D) 50
The next number of the sequence 2, 5,26, ___is 4 3fhH 2, 5, 26, B R HB& 1 % ?
(A) 721 (A) 721 ’
(B) 677 (B) 677
(C) 541 (C) 541
(D) 491 (D) 491

Section-Ii

Thickness of the graduation in leveling staff is 1 WWﬁa@Qﬁﬁmwm%7
(A) 1mm (A 1 o
(B) 2mm ®) 2 fodt
(€) 5mm © 5o
() 10 mm @) 10 fredt
Which one of the following instruments is used 2 QA B UFT B & fag FRafdied # 3 few
for calculating area ? JUH HT SYANT {1 1t &7
(A) Planimeter (A) WM
(B) Dump level (B) 3 A9d
(C} Clinometer © e

(D) formg



What is the magnifying power of Telescope ina
tacheometer?

(A) At least 5 to 10 diameters

(B) At least 10 to 15 diameters

(C) Atleast15to020 diameters

(D) Atleast 20 to 30 diameters

Which of the following is a potable instrument
used to major precise change in the slope of the
object?

(A) GPS

(B) Inclinometer

(C) Aerial photography

(D) leiss Rec Elta total station

Average ordinate rule is used to calculate which
of the following?

(A) Area

(B) Volume

(C) Angle

(D) pistance

Duties and responsibilities of Surveyors have
been laid down in which of the following
regulations of “Coal Mine Regulation 2017”7

(A) 47

(8) 48

(€) 53

(D) 54
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(B) T

(C) Fror

(D) &
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(A) 47

(B) 48

(C) 53

(D) 54

Section-l: Answers

1(D), 2 (C), 3(B), 4(B)

Section-1i: Answers
1 (C), 2(A), 3(D), 4(D), 5(A), 6(C)





